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2-3   沿岸海域および海陸統合構造調査�

東京大学地震研究所�
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NvG<jA����}XMP`�|�

W5]�

���´¶m&·�  3020 cu.in. / 2000 psi 
�´O*|6 m 
WxStw|25 m 

552 S�

§�©³µ 

(Z�
�L)�
6−50 Hz / 20 sec 
2 sweeps (FR) 
WxStw|25 m (FR) 

1190S�

§�©³µ 

( 3L)�
6−30 Hz / 24 sec 
100 ~ 150 sweeps 
WxStw|5 km 

10 S�

�5]

N�� N);h��5��£¬

SeaRay (25 m|tw)�
320 ch 

(2.5 km) 

v�� U[��5��£¬

MS2000 (25 m|tw)�
317 ch 
(15 km)�

!s� ��!s�

¤µ �q�

�´ª±´�� 4 ms� gqr� 12 s / 16 s 
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U[�6pH(GSR)� U[�6pH(LS8200)�U[�6pH(MS2000D)�

�5�bhaz>/ N);h��5�µ©²/ Nv7�S/

�5]kH@�

VP1568� VP3555� SP10V/(�t�B)�
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(fPc)�
 1050 cu.in. / 2000 psi 
�´O*|6 m 
WxStw|50 m 

�����´

(Wxc)�
3020 cu.in.  / 2000 psi 
�´O*|6 m 
WxStw|50m 

�5]

�¥±µ«µ�µ
©²�

|�µ©²r|2 km 
�5Stw|12.5 m 
¡®´¦²:|168 ch 

?��¨�¢¥� 4 km (�c+���) 

¤µ �q�

�´ª±´�� 2 ms�

gqr� 10/s�

N�� P`�� P`r�

dVQJ

190 km�
W1� 40 km 

W2� 40 km 

W3� 40 km 

W4� 75 km 

#uJ

280 km�
R1� 35 km 

R2� 40 km 

R3� 40 km 

R4� 40 km 

R5� 140 km 

¤µ �/�E�

fPc|¶����·� �¥±µ«µ�µ©²� ���´(1050/cu.in.)�
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